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Instructions for the candidates :

Candidates must enter his / her

1. el oMR IEv wEE W awAr L
. e Question Booklet Serial No.
W yfasr wwiE (10 dE @) (10 Digits) in the OMR Answer
Iy ford Sheet.
2 Wl gurgys 9w vt § gt 2. Candidates are required to give their
. answers in their own words as far
IR I as practicable.
3. R N ERR W R gu o quiw 3. Rgures in the right hand margin
v indicate full marks.
e v &
4. T @ &g Rafgb- wd & fmw + 19 minutes of extra time have been
allotted for the candidates to read
15 fie @1 Jfafee a7 Rar mar &1 the questions carefully.
5 FEHFYT S GVSI & —@wug-F ud > This question booklet is divided into
| _— two sections — Section-A and
HUg-| ~ Section-B.
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In Section-A, there aré ._IDO objective

out of which any

type questions,
wered.

50 questions are to be ans
First 50 answers will be evaluated in
case more than 50 questi 3
answered. Each guestion’ ét_:!rriES

1 mark. For answerfné thes

the circle with blue / plack ball P"f‘
on OMR

ons are

e darken

against the correct option
you. Do

blade /

Answer sheet provided 10
not use whitener / liquid /
nail etc. on OMR-sheet, otherwise
th; result will be treated invalid.
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In Section:B, there are 30 short
answer type - questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there are
.3 long answer type questions, out
of which any 4 questions are to be

answered. Each ‘question carries

_Smarks.

Use of any electronic appliances is
strictly prohibited.
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WU - & / SECTION - A

TS WFT / Objective Type Questions

7T e 18 1007%F & yyw & wry aw fwew Ry v § Bred @ 0 W@t 3 el
som#%mmmq#waﬁﬂm#om:ﬂzw%ﬁﬁf '
50x1=50_

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any

- 50 questions. You have to mark your selected option on the OMR-Sheet. 50x1=50
L 64% 9 TEE 5 T T ¢
A 4 | B 5
Uer 6 D) 8
The exponent of 2 .in the prime factorisation of 64 is
(A 4 ) B) S

) o . (D) 8

P
q
© p2q? | o L

H.CF.(p,q)xLCM. (p, q)isequal to

A  (pxq) B <

q

2.2 ' | D g

€  p7q (D) o
S-I |—]| 17001-s9/70)| . Page 3/48
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3. [t agwe &) ur A 2
&) = den % 301 ol
\er” oot s D A @ @

The degree of any polynomial is
(A) fraction number (B) negative integer

(C)  whole number (D) none of these

4. aﬁq_‘\'ax2+bx+c,a#0ﬁ3.ﬂﬁ@'m%
(A} 9d - (B) T
(C) W @l _ D) a!ﬁfﬁﬁﬁ'q
' The graph of [;olynonﬁai ax? + bi+c, a #0 e |
(A) circle | __ (B) paraﬁoia
(C) strai.ght line o (D) hyperbolé
5. Y% 2, 8 ATt SgUGI B GEAT gt

a) 1 - ® 2

C) 4 . - (D) IO
S-1 |- [ 17001-(69/70) Page 4/48
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1 (110]
- The number of polynomials whose zerocs arc 2, 8 is

A1 B) 2

< 4 (D)  infinitely many

6. Torelt oo g & v it 2wt 3, e g B

(A)  x*+12x+8 (B) x2-12x+8

(€ x2+4x+12 (D) %2 _8x+12

If zeroes of a quadratic polynomiul are 2 and 6 then the quadratic polynomial is

(&) x*+12x+8 B) x?-12x+8
© x? *+ax+12 - (D) x’z—s{cﬂz-
7. %’ETHE!EW y2+16y+55 aﬂ‘l"ﬁ?%
(A) A HOTE | (B) SNl YA
©) T T O AeE (D)
The zeroes of the quadratic polynclnmiall y2 +16y+ 55 are
(A)  both negative (B}  both positive

(C) . one positive and other negative (D) equal

5. AT 2x+Se-k ¥ T T TR A, A R FATAT

a2 ) . B -2

1

© 3 o -3
S-1 |=| 17001-(e9/70) Page 5/48
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1T zerocs of the polynomial 2x? +5x -k are reciprocal to each other, then the

value of k will be

A 2 @) -2

(€) (D)

)
B |

1
2
a. T px)=x2+5x-12F p()) F A E
A} -12 B) 6
C -6 D) 12
If p(x)=x2+5x-12 then the value of p (1) is
(A)  -12 | (!3] 6
c -6 (D) 12
10. T THIHWT 2x+4y=3 TN 12y+6g;6 wEAE
(A) IS & T | B THE
© e | o) T &

The solution of the pair of the equations 2x+4y=3 and 12y +6x=6 is

(A) ~ no solution (B) one solution
(C) two solutions ' (D) infinitely many solutions
S-I |=] 17001-169/70) Page 6/48
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1. trafefas 3 st S wafn @ oo & 2
(Al g (B) TAH

(€}  =gdw (D) O fage

Which of the following is not a measure of central tendency ?
(A} Mean (B) Median
(C)  Mode | (D) Standard deviation

12. W 14, 15, 13, 16, 14, 15, 17, 13, 15 T TG &

@ 13 B) © 14

{ef 15 D) 16
The mode of observations 14, 15, 13, 16, 14, 15; 17, 13, 15 is

(&) 13 . B 14

€ 15 D) 16

13. mfmmmaﬁmrmw% |

& 2 /(Bf 3

() 10 | (D) 20

S-1 |—| 17001-9/70)| Page 7/48
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14,

15.

[110]
~fic mean of first five natural numbers is
) 2 B 3
€ 10 D) 20

WETOT 8, 12, 7, 14,6, 13, 15 T TE ¥

Aa) 9 B) 10
© 1 \j,DJ/ 12
The median of the observations 8, 12,7, 14, 6, 13, 15 is
@ 9 (B 10
© 11 | D) 12
I 1 S T SR T S R A S R By &

(A) HY (B) WS

F'/ wAE - D) TR T

The difference of three times of median and two times of mean is equal to

(A) ~mean (B] median
(C) mode (D) none of these
S-I |—]| 17001-69/70) E Page 8/48
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16.  a [N gl wg f & eEwe @

A a? o L
V3 1 2
(€) ekl (D) 74

The area of an cquilateral triangle with side ais

(A) a2 | (B) -‘g—-az
(C) -‘?-az o 3

17. IR 9 = iRy 3k ot o g <) ss At ¥ awER @ Al
(A) IO W A% = SRR (B) 99 BT &G < A H A
(e} ﬁwmsaﬁﬂﬁﬂm_ D) T R FE W

If both the circumference of a circle and the perimeter of a square are equal to

88 cm then
(A)  Area of the circle = Area of the square
(B)  Area of the circle < Area of the square

(C) Areaof the circle > Area of the square

(D) None of these

F-78/78 S-1 |—] 17001-9/70) Page 9/48
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n | 110
18, R ER ¥ W wAw BT o T A, at swe faet @

(A JEe @ B JZa T
(€ 3aT¥E o J6a T
If each edge of any cube is a unit then its diagonal will be
(A)  3a units (B) = v2a units
(C)  3aunits (D) 6a units

19. ﬁmﬂmhﬁHaﬁ@ﬁﬁ?ﬂﬂv@maﬁmm

@A) sRPH A WE By %nRQH PRI
©) L1xH?R ¥ R D) -g-nR?H ERC

3

The volume of a right circular cone whose radius is R and height is H, is

(A) © =R2H cubic units (B) %-nRQH cubic units
(&) %nH 2R cubic units (D) %nRQH cubic units

20. TR D T & ST B U 4 : 25§ O IR B H S FW

(A) 3:5 B 5:2
(€ 1:5 D) 2:5
| S-I |—] 17001-69/70) Page 10/48
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21

C

22.

23.

[110]

If the ratio of the arca of two circles is 4 ¢ 25 then the ratio of thr.:lr radii will be

A} 3:5 B 5:2

© s (D} 2:5

“ﬁmﬁﬁwmus—zn]tﬁmmwm

(A} O (B -13
o2 . oy -2
If the general term of an A.P. is ( 13 - 2n) then its common difference is
A o @ ~-13
@ 2 ' D) -2

T S 126, 120, 114, ... FAF-TW R OF ?

M 207 B 213
(o 227 D) 237

Which term of the A.P. 126, 120, 114, ...is07?
(A) 20th ' : (B) 21st
(C) 22nd (D)} 23rd

TEEIT AABC T #B=90°, AB=12 U, BC =5 THl 74T AC = 13 §HI & @ sinC

TR 7w

5 . 5
@ 13 | M 13
13
@ i br 5
S-1 |—{ 17001-69/70) Page 11/48
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24,

25.

26.

In right AABC, ZB=90", AB=12cm, BC = 5 cm and A

equal to
5 2
W B 13
12 13
© 12 O =
II&COSBL“DH:’ tan 0 &1 T &M
J1- p? 1
_ B -
W = ®

W =F : I

Q) p* D) 1+ pz
|- p? _ o p

- —_—

sin

(A} cos6 B | ~(81/ cosec b

(C) sccO : _ | (D) cot®

sec Bxcos B = |

@ 2 B -1

@ 0o D 1

“101

=13 cm, then ﬁiﬂC;&

S-I |—| 17001-69/70)
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n | 110
a7 o cotg = J_: A see 0 &1 HTT R
LN
(A) V3 (13) 1
' 2
C 2 | =
hﬁ{ A
e ]
If cotd= NS then the value of sec 0 is
v3
(A) /3 1
N (B) )
e 2 =
d -
28. Eﬁ'.’i=43"?ﬁ sin A+ cos A=
) B =
(B) /2
(C) 1 . (D) 1
2
IfA=45°thensin A+cos A=
_ 1
A) N . (B s
c L D) 1
5 .
29, g 2sing=2 T a=
(A) 0° : (By 45°
C 60" (D) 90°
S-1 |-| 17001-(9/70) Page 13/48

https://www.bihartopper.com



- 3L

[116]

If 2sina=2 then e =

A o (B) 45’
(€} 60° D) 90°
30 tan21’ _
cot69"
A& 0 9/ 1
' 1
e -1 | D) 3
o aapc-aors, SMBC) |9 4p g pe= 153 7 PR
go (APQR) *
(A) 330- & - : ® 10¥H
© 8w - (D) 12.'@11"7
- Mﬂ_g = d BC= 15 cm then PR=
If AABC-AQRP, ——-5mm = 4+ AB=18 cm an
(A) % cm B 10cm
(C) 8cm _ D) 12cm
30, a5 APOR H PR2=pPQ2+QR? @ 20=
(A)  60° (B) 75°
(C) 45° (D) 90°
. S-1 |—] 17001-69/70) Page 14/48
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33.

34.

[ 110
In APOR W1 PRY = pO? 4 OR? then ZQ»
A 60° 7y
© ase () 90"

APOR T, 5 5 ol 1 gy sgmaif pop wvar pre e w0 WL B B o7 1) R, o
PS= xR, 50w x- 2) AR, prw (x4 2) Al @ arfe~(x~ 1) at .
T &

(A) 4% B) 45T
(C) 3 qt (D) 35 At

In APQR, S and T are points on the sides PQ and PR respectively such that
ST[|QR.If PS=x cm, SQ=(x-2)cm, PT=(x+2)cmand TR=(x~-1)cm

then the value of x js
(A)  4cm ' (B) 45cm
(€ 3cm D) 35cm

AABC'H T D @ik E %RT: Ywell AB T AC R 70 WK & & DE || BC. AR
AD 4841?».(: 18 ¥t @ AE =

(a) 8¥H B 6d
© 10%H D 2%
S-1 - 1700 1-(69/70) Page 15/48
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-~y -
2d.

36.

[11(

. . : : ey ~ respectively
I AABC, D and E are points on the sides AB and AC resp ¥ such y

DE[1BC 1f 22 o3 nd AC= 18 em then AE =
DE 5§

(A S em (B) 6cm

%

{Cl 10 cm ' (D) 12 cm

o ¥ e et T e @ e el & 4 4 g €

J\ 10 ¥t B) 697

o 123 ) 36 ¥

The distance between two parallel tangents drawn on a circle of radius 6 cm is
(d) 10cm . (B) 6cm

(C) ‘1?. cm (D) 36cm

iwe @ fog ¥ 99 W oot @l Yt o o gt 2

W & @

) aH (D). 3FAFEA

How many tangents can be drawn to a circle from an external point ?

(A}  One (B) Two

(C)  Three (D)  Infinitely many

S-1 |—| 1700169770

Page 16/48
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37. YW AFNT La0p=130" T ,APB BN AAE

38.

A

() 130° B 0

(C) 65 (D). 100°

In the given figure ZAOB=130": then the value of ZAPB is
A

(A)  130° " B) 50°
(C) 65° (D) 100°

& gl F rp AW 7Q A WREN 0 ¥ I W W ¥ YR ¢ fF
£PTO=50", T £OPQ FAH ¢

(A)  30° (B) 25°
() 45° (D) 50°
S-I1 |—| 17001-9/70) " Page 17/48
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39.

40.

[ 11g.

' . ircle with centre O gy
In the given figure TP and TO arc two tangents 10 the ci o}

that /.’PI‘OzSUn , then the value of Z0PQ is

A 30° - B
©  45° () 50"

T 3 A @ g g Tl @ e ¢
w o1 | B 2 "

© 3 (D) 4

The number of common tangents of two circles which touch each other

externally is
@ 1 | @ 2
c 3 S D) 4

ffﬂ?ﬁ@ﬁrﬁfﬁ% O I &1 &5 § T LAOB=40" @l LOAB FHA ¥

.0
/460'\

VeV

(A)  40° . (B) ~ 60°
c) 80° . . . by 70°
S-1 || 17001-(69/79) ) : Page 18/48
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41,

° g\ §° =
b -
D
|
Q0 | 4ee

(110}

In the given figure point O in the centre of the arcle and ZAOB=40 then the

value of LZOAR 18

af
A v B
A} 40 B) 60°
o 80" (D) 70°
y ¥ T ez qmam &
(Al i B 0
1<y 2 (D) ﬁ"ﬁ% i

Abscissa of all the points on the y-axis is
1 B 0

(D) any number

o

&llt—

D)

B

Page 19/48
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I'Ilu]

| 3
The common difference of the A 0, ’-I‘-. A In

I
(A) m -

1
8

|
[C] ([ ” - _4_-

.-h!-—-

JHTAR r N
9. W B &G T (G- 7) b, alt gorr wut " e

A o | _{BR -7
< 2 \_(p}/- 2

If the general term of an AP, is (5n-7) then ita first term I8
@ 0 B =7
@2 o -2
3. g A(0,-8) 3R B(-12,0) ﬁﬁqﬁﬁwﬂm ¥ g fa=g 1 50 8
@ (0,0) B} - (-6-4)

M (-4-6) D) (-12,-8)

The coordinates of the midpoint of the line segment joining the points A(0O,- 8}

and B(-12,0) are
@ (0,0) B (-6-4)

© {=4-6) D (-12-8)

S-I |- 17001-69/70)
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48.

49.

; 0,0)a
If the vertices of a triangle are (0, 4
¥

will be

(B] 12 Uﬂits

(A) S units

(C) 125 units

ﬁiﬁP13-01,0(7,01343?}?{3,4)#&#%!*1?!%%%
12 T TS

& 24 g \(B)

() 48t T C o pr s

The area of the triangle formed by points P (3, 0),
(A) 24 square units

(C) 48 square units

vt & et o 1 At g &
a)  90° f B 180°
(C 120° (D)  100°

The sum of all the three angles of a triangle is
(A) 90° | (B) 180°

(C) 120° (D)  100°

(D) 545 units

(B) 12 square units

(D) 8 square units

nd ( 3, 0), then its perimg,

Q(7,0)and R(8,4)is

p—

S-1 | = 17001-(69/70)
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50.  APOR T po~ pr 040" @ op-
(A) a0 (3)  80°
€ 120 D) 100°
In APOR if PO=PRand £Q = 40" then ZP=
(A)  40° B 80°
(€) 120° | (D)  100°
51k ¥ 99 7 & faq e xedy=3 A1 axsky=0 WO Y@ F v
AT § ?
A} -6 (B) _%;
(€ ;51- | | D) 6
For what value of k, the equaﬁohs x+2y=3 and 3x+ky=9 represent
coincident lines ? https:/ r'-'v.-'ww.biharmppcr.com
@ -6 . g ® -
© 2 o 6
52. % %=s—;=:—; al g e a,x+by+c, =0 ﬂ‘?-IT azx+b2y+c2=0 T
&l BT
@ e g (B) B E
€ i O T RFR T

[110]

S-1 |—| 17001-(69/70) | Page 23/48
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H (110]
L_ob G : _p and
If = =7o= F;— 1}11:11 the solution of syatem of cquations a x+by+¢ =
2 2 "2
a,x+by+c, =0 will be
(A) unique solution (B) no solution
(C) infinitcly many solutions (D)  nonec of these
53. fr=fefaa § @ «F-a fod gl §
_M x?-4Jx+4=0 B)  x? _1 _gy
2
X
. - 2 2 2 2
(G 2x°-2x+1=(2-x)"+2 (D) x*“+4x+4=(x"-1)
Which of the following is a quadratic equation ?
() x2-4yx+4=0 B) x%-—5=9x
X
(€  2x?-2x+1=(2-x)? +2 D) x2+4x+4=(x?-1)
54, frefaned 3 € SF-91 fEod gHiwor w2
&) 3(x+1)2=x%-2x+4 ‘(B) 4x-x?=x%+5
€ (VBx+/5P +x%=4 ,ﬂ:))/ 16 x3 =(x? + 3x)%+7
Which of the following is not a qliadratic equation ?
(&)  3(x+12=x?-2x+4 B) 4x-x2=x2+5
€ (V3x+J/5)2 +x’=4 D)  16x3=(x? +3x)>+7
S-1 |—| 17001-(69/70) Page 24/48
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A

[110]

afe oA s 9,2 pra p=0 WA WO R, A p WA i
(A4 By wAA 0O
<y 08 ) WA A

It the quadratic equation 2x2 - px+ p=0 haa equal roota then the value of

will be
A 4 (B) only0O
€ 0.8 (D) only8

o TEHFN 42 - kx4 420 F FE G ARGATE T @, @k FAR W
(A) k<-4 (B) k>4

(C) ~-4<k<4 '(b] k=4

If the equation x? - kx+4=0 has no real roots then the value of ks
(A k<-4 (B) k>4

(C) -d<kea D) k=4

ofr o 7 b e G X2 - 3J3x-12=0 F A E, A a+p-43=

(A 343 (B) -4Y3
) 23 D) 443
8-1 |-117001-9/70| - Page 25/48
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. o rad 4 I'i' rd . 'a
2 the mmota o the uasdrst £
- .‘.l
IV L
C 2V Dy 443
¥ FERISF 371w 4T T
A 52 my 55
Cy 56 (o) 59
The 14th term of the A.P. 3, 7, 11,... is
(A} 52 ' (B) 55
C) 56 D) 59
59. FclEa 4 $9-01 99idt 921 § & 2
(A) ~-8,-6,-4,-2, ... Jﬁg\/ 5, 15, 18, 28, ...
(©) 0-1,0-11,0-111,0-1111, ... D) 1, %% 2, ...
Which of the following is an A.P. ?
‘Al —8,—6,"4, -21 (B] 5, 15, 18, 28,
(C) 01,011,0111,0-1111, ... o 113,
] 2!21: § vae
S-1 |- R
17001~69/70) Page 26/
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00.

62.

—— N
=IOy KT

(€
The n
(Al

(C)

4"\!"\
=%
a5

(A)

(€

e e, 1, -4 w ALY
21+ 5; i J1 -5
- 11 X

" term of the AP o, 11, 0,1, -4, .08

21+ 8n (B3) ] = 8n

Sn-11 (D) 11 +5n

I 91 oitfy ok STe S TRE SE §, 6l g S S g

% TR B) 2R

37 TR D) 4 TR

-

If the circumference and the area of a circle are numerically equal, the dameter

of the circle will be

(A)

(C)

T units , (B) 2units

3 ® units (D) 4 units

3 St e Tt T T R e

(A)

(C)

257 QIS (B) 36x W
647 Q3 o 2w

The volume of a sphere of radius 3 cm is

(A)

(C)

257 cm® @/% cm®

. ' 112
647 cm® (D) T r cm®

17001-(69/70)
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63.

64.

A & 59 F 9 100 ﬁ%.ﬂ’fwwm

(A)  10n W2 (B) .20“ Jeit?
@ 25z ¥2 , (D) 30m [t
If the circumference of a circle is 10n cm, then its aréa will be
(A) 107 cm? ' | (B) zq;: cm?
© 257 cm? D) 30% cm”

@Wﬁmﬁﬂ’lﬂwhﬁ‘m g ¥, qﬁn”ram 5 9t &, O T
feremot =t wg BRI : '

(A) /5 FH | | (B) 16.(5@14?

(€ 2045 @i _ | (D)  25/5 ¥l

The length, breadth and height of a cuboid is respectively 8 cm, 6 cm and Secn

then the length of its diagonal is

@ s JSem , B 10/5cm
© 20f5em , D) 25/5cm
65. 4 At e et e T GAwE

128 32 - 156 a2

A = 7
7 5 |
© 2w ~ef A7 wh?
S-I |= 17001-69/70) Page 28/4!
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(110]
Thc arca .ol' a Semi-circle of radius 4 cm is |
" -L%g_ e (B) 13—6' cm
(C) -1-;5_-5_ crm 2 o) _1%9_ o
o6 1% IF1h v e ) e et e 2
B 2% o 2
@ 3 o3
, Which of the following cannot be the probability of an event ?
A 25% | o 2
© 3 o 3
67. S & zfuaq o iﬂar %
a) 0 B 1.
e -1 D) 2.
The minimum value of probability is
@4 O B 1
c -1 (D_}_ 2
51 |- [17001-e9/70 Page 29/43
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T R @ e ) o P e o ) SR a

68.
A) o @ 1
Q1 :Q 1
A dic is thrown. The probability of getting an odd number is
(A) O B) 1
© 3 o 3
60. afk T A% it # s 07 8, A g wd A s &
@ = ® 15
o 3 o £
If the probability of winning a match is 0-7 then the pmba.bi]ity of losing it is
W 3 ® &
© 1% - o £
70. @ YR ¥ $ T T ART FI TGEN A F T T AGTSAN Fewren e §, A R
I 7 1 AE A F A
w £ ®
© 35 o 2
S-1 |~| 17001-(69/70) Page 30/*
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71.

73.

(110}

A card i .
'S drawn a¢ random from a well shuffled deck of playing cardn, then the

probability of Betting a black king is

3
A -
(A) 2%
1
(€ 26
sin30° .

s X -
cos 30 cot30 =
A) O
(C) 3
1-tan?45°
1+tan? 45°
(A) sin 90°
(C) tan 90°

2
(B} 13

3
(D) 13
B 2

a5 (7, 10) SO U A fRmE 2 -

(A)

(€

T O

qad S

® GaaTuE
@) T I®

In which quadrant does the point (7, 10) lie ?

(A)

(€

First quadrant

Third quadrant

(B} Second quadrant

(D) Fourth quadrant

S-1 |—| 170019/
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77.

78.

79.

[110]

s mm '{B] x2~y23ﬂé
(C) (x'l'y)m D) {xg_s_yi]ga;ré

The distance of the point R(- , y) from the origin is

B V5152 wnite B |23’ units
€ (x+y)units D) . (x? +y2) units
ferrgat P(__S_,!'?)-aﬁt. Q(8,11) & dg &Y g

@ 31 oy s

Cr 137w D) 6T

The distance between the points P(5,7) and Q(8,11) is

(A) 31 units (B) S5 units

(C) 13 units (D) 6 units

X y - 4 1 oo P A R e g R B TR 2

@A (42) B) (2,4)
Q  (4.0) D) AP

The graph of the line.y = 4 passes through which of the following points ?
@  (42) B (2,4)

© (4,0) (D) none of these

g-1 {—]17001-(9/70) Page 33/48

https://www.bihartopper.com



| 11g,

S0. e fag & Fedwites

B (0.0) (B)

€ (-1-1) (D) (1,0)

[l_li

The coordinates of the origin are

) (0,0) ® (L1

©€ (-1,-1) o) (1,0)
s1.  Freafefa o S weR o wpa W@ & 2

(A} O B -1

© 1 | | D) 2

Which of the following is the smallest natural number ?

@ o | @ -1
N (S| . D) 2
g2, Trfafaa ¥ |- ooy @@ € 2 -
N B
X L ' 3+
© % BN .
Which of the following is a rational number ? |
(A) V25 B 5
L | | D V3
© 5 D) V3+/3
1 S-1 |=1 17001-69/70) Page 34/4
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[110]

i“-“!‘l‘rr"'\ | i
t 1 AN TAU .i ‘1 "h' " {ﬁ \"P‘ﬂ q“l {h .“ - !J
i l ¥ I

N 1.3
—_— Vo
W) J«{—L

DAL

‘l‘\-iti\‘l‘ t‘ll‘ tl’“: f‘ . .
0] . , i
fow ME s an wrrational number ¥

A 1.3

l m V16

~ Q :

C = _
N7 M) V5 x5

W p SR q A anme TEN E, @ 3 Ho Wo TN
@& -1 B 2

) 3 D) O

If pand q are two prime numbers then their HCF will be

A 1 B 2

© 3 D) 0

0-13 = |

&) 3%”5 | CHR

' ' -3
o B SO
. 99

@j —| 17001-(69/70) Page 35/48
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L& T 72 D He 1o P

TIRY

iC) 9

J1z & PR LE RS -_._-_»,.'-.r. F4
cy V6

The rationalising factor of Y12 is

Ay 43
cj 46

72
r{J 2
@ T2
o) 2
(E) ﬁ
(Dj 216

- —_— 3 .
oz p U Enjrash 44, % Il Gt i
15 . ¢ )

(4  2p

) p

D) 2p+l

if p is a positive integer then the form pf positive even inieger is

(A} 2p B} p+l
(i p (D} 2p=+1
S-1 =] 17001-s9/709 Page e
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[110]
9 ety
B TR i § 9
17
W g1
B 2
41
© 42 ,
wl L
80
Which of the fg)
OWing has terminating decimal expansion ?
17
A 51 -
: 1 LQ
® 3
13
© 25 n L
go. FeieiiEn # FFe Tomer waw st & 2
15 o 17
A 200 B 45
19 op &
O 121 . ® 760
|
Which of the following has non-terminating decimal expansion ?
17
15 : B) ==
A 700 . 80
| 14
' 13 O 200
(€ 121 . .
-1 l- 17001-(69/70) Page 37/48
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[110)

91. ?Iﬁna'errq;waﬁmﬁa’r
(A) cos0=cos¢ (B)  scc @ =cosec ¢
(C) sin0= ‘sin ¢ (D) tan0=tan ¢
If 0 and ¢ are complementary angles then
(A) cosO=cos¢ (B) sec 0= coscc ¢
(C) sin0=sin¢ (D) tan0=tané
92. sin?75 +sin?15 =
(A) 0 pa( 1
(€. -1 D) 2
03. ‘l+tan?0=
a0 @/ sec?0
(C) -sec?0 (D) cos?0
94, 2(9.1'n2 a+cos? a)=
(A) 1 B) O
© 2 0 -1
S |-[ 17001670 Page 33;;;
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a5

Of

Q7.

5

(DUORCC N K ayd gy,

(A} 1

W
Wy -5 (D)
afe Ja=180" cosa =
(A} 0 (B)
(C) -;- (D)
If 30=180" then cos a =
A) 0 (B)
© 1 ; (D)
IR asin®=1 AR beoso=1 i tan 0 =
@ 2 (B)
< 1 | (D)
If asin8=1 and bcosﬁ=1-thcn tan 0 =
(A) % (B)
© 1 (D)

-

0

&

Sl 7

Ci10

S-I [=] 17001-69/70)
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H (110)
08. -L frg@mIARE ?
V3
(A)  sin 30° 451/ tan 30°
(C)  cos60° (D)  tan 45°
Whose valuc is LS ?
(A)  sin 30° (B)  tan 30°
(C) cos60° (D)  tan 45°
99, ":Iﬁ'sccﬁ+tan6=x ﬁ’fta.nﬂ*?
2 2
x“+1 x“-1
w5 | =
2
I x%+1 x
IfsecO+tan®=x thentan 6 =
2, 2
x°+1 o xo-1
(A) o (B) e
. 2
-1
C X (D) X
© x?+1 | x
. 1
100. sin? ¢ 4 ———— =
¢ 1+tan2¢ _
A 1 B O
' 1
(C) sing D). 3
S-1 17001-69/70)
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Westlon trirrie Witir ) i
¢

e

A

*. "' A wfl VI L
/ ¥ ! 1{"‘ lt fhr ]"!JI";T i”"'l 'r"r" [’1;{.“ i ( i i J (

g
T} I | FYERT e tf H '”””3{]" wihitrse yepfis v n e | D Y B ] i)

r
;// " ;4.11‘1 Al

W polmta A (2, %

vishie of b

o IICA, byt g,

O P T

) uAoTI . B

3. "?"II'A(.’ i fq, (I tlun A \4 ”
/ .l1u,1,1J = tan” A

Y]
Prowve that [l tlan A

-1

A I
: I‘r‘}iAJ 'hfl A

‘.‘/fr"”” QBTN 4?22 x e 1wt % 52 yr1 w1

OSL U RGN RIER oA

¥

anfd | r,.

[ hH |

Typs (jiimutltins

6 t1ey;
T8I 300 491 Ry gt b o) 1 19eth A 3me A1 e sevet

15 2~ 30

Fidafdrey ‘jf”n faitisaghiegpics fgpividied Firi iy I5 f’uﬁl,”!m‘; Forer bi

)'*!"?"f’f

Ay 3y, ik 7

-
#)

N

Vo) are colbinear then find the

A

h-‘

Find the roots of the quadratic cquation £° - 2224140

5. Atz Swan s s zw wpwn g 10§ o s e w9

#

M\

16 .
If the sum of & number and its reciprocal is ==, then find the number.

81 |~

17001 w179

P
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l'-

6.~ WA A 21, 18, 15, ... F FIW T - 8] 2 3

Which term of the A.P. 21,18, 15, ...is -817

30 T fge ®) $urd 7wt fraa) e 2a € 2

-1

Find the height of an equilateral triangle whose side is 2a

8. %@@Em%mﬁq%ﬁ&m(z,u%ruﬁAﬁW(5.71%=’B;‘.
fvie s &8 2 |
The co-ordinates of the mid-point of line segment AB are ( 2, 4 ). If the
co-ordinates of A are ( 5, 7 ) then find the co-ordinates of B. |

!

_?// fﬂ?ﬁﬁ;1+cose+ sinf = 2cosecH.

sin® l1+cosf

1+cos6 sin®

sn® T T+cosg ~ 2cosech.

Prove that

10, Tmelt Preget & ot T , o O 400 §1 R O x T y F A AR 30°8, T

x T y 71 B 2

The three angles of a triangle are x, y and 40°. The difference between two |
angles x and y is 30°. Find x and y. |

11. A y13-x2 = x+5. 2

" Solve ¥13-x2 = x+5. :
\ys-sﬁﬁﬁwaﬁaﬁ‘?ﬁﬁmmmmmﬁi 2

Find the curved surface area of a hemisphere of radius 3-5 cm.

S-1 [—] 17001-(69/70) Page 42/48

https://www.bihartopper.com



n (110 ]

VRS :—."'_E_-%-:__...
~
-

T3 S s o & et T EES A 2
mﬁ-ﬁcﬁmu}cmd%m;mgmmwmpaﬂd?

’,-’
18 wEsT y 2
Pl SO

. x -4 ¥ I B 7 w1 ?
rmdtheac:mohhcpoi,mmia]-’mxz-x-‘?
1. T e==

2
The difierence of two numbers is 26 and one number is three times of other;
then find the numbers.
16— 571 57 8, 3,- 2, = WoH 22 G 1 47 7F F4 2

Fmdthcsumufﬁ:stﬂtennsofthe'A_P.S,&-l

7. T95 @ =g 39 9K F e 4 30 @ 9 @ W E, 99R & e @
5 =0 30° €)1 HER 5 S98 76 50 2
From a point on the ground which is at a distance of 30 m from the foot of a

tower, the angle of elevation of tower is 30°. Find the height of the tower.

1M45°ms45°—sin30°mso-mmmﬁaaéi 2

Find the value of sin 45° cos45° - sin 30° cos 30°.

a-[ |—]| 170019/ Page 43/48
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n ) | [110)

20/‘1&cosdc%?ﬁcnt.«‘l@mnﬁmmmﬁ' 2

e

If cosA-‘—q-, then find the values of cot A and tan A.

21, AR p(4) T g A G S TR A A 2 FAH T F 2

If the distance of point P(},4) from origin is 5 units, then find the value of 5.

/wgumﬁﬁrﬁuﬁwmﬁswgt{a’3x+2y=4$rat—rrﬁamﬁ| 2

Find the solution of the equations 8x + 5y = 9 and 3x + 2y = 4 by cross-

multiplication method.
}Z/fﬂ?&'ﬁﬁ?tan@“.tan23".tan§2°.tan67°=1. | 2
| Prove that tan 48° . tan 23° . tan 42° . tan 67° = 1. |
//@%ﬂﬁﬁgﬁmﬁﬁﬁwﬁuqé@—l%: 2
Find aqgadraﬁc éolynomia] whosq zeroes are +3+1 and Y3 -1,
2. WA F T A ¢ ot o ge Foh B o o v v A waw
ﬁgiﬁ!mwm%l _ - | | 9

A wire is in the form of a circle of radius 84 cm. Find the side of a square which
can be made by this wire.

26. T+ o fagl (3, 3)(a,0)aﬁt(o b)mﬁqﬁ: % % 2
Proveﬂ1atpomts(3 3),(q O]and(O b)a:ecnllmcarlf—l- 1_1-
a b 3°

S-I | =] 17001-(s9/70) Page 44/48
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B [ 110]

ﬁﬁ: EH} ﬁ; tan? ¢+m{“t 42

|
=J

mgecd ¢ cosec.
Prove that tan? $+cot? §+2=sec? ¢ cosecd.

xRy ¥ Wy it o g (), B (3,60 (=340 F
TRy {1 2

Establish a relation between x and y, when point ( x, ¥} is equidistant from the
points (3,6 ) and (- 3, 4).

29. AN 3Pl areh el s 7@ v € 2
How many three digit numbers are divisible by 7 ?

‘ . . A+B . C
30. AR A, £B W £C; AABC ¥ 3w & a fag F R cos ; =sinz. 2

o
o

tJ

If ZA 4B and ZC are internal angles of AABC then prove that

A+B . C
COoSs 5 —smE.

et ST WA / Long Answer Type Questions

P WS 31 % 38 A AT e F1 TR @ Fedl 4 WE & I 1 0E 0E F
fore 5 s fFrifte 1 7 | 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any 4 questions. Each

question carries 5 marks. 4x5=20
31, 2 wEmeh & ant @ S 180 ¥1 A SR Wew w1 TS W F @ [, A
QAT TS T | 5
The difference of squares of two numbers is 180. If the square of smaller

number is 8 times of bigger number, find both the numbers.

S-1 |—| 17001-(69/70) Page 45/48
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/;/mtﬁmfaﬁrﬁmﬂwmqm ax-5y=20 TH 3x+5y=15 H &1 F 5

[110]

Using graphical method, solve the pair of cquations 4x-5y=20 ang

3x+5y=15.

sin0-cosO0+1l 1 - 5
y,/ﬁil?ﬂ i sin0+cos0-1 secO-tan0

34.

39.

36.

b sinG-cos0+1 _ 1
Prove that sin0+cosf-1  secO-tan®’

5 A Yo A UF QAR G % Sl O g9 @i W PR @ el
o H | 5
Draw a circle inside an equilateral triangle of side 5 cm which touches the sides

of the triangle. ‘ _

fog &% fr 9 it et Y@nel & wwi fag @ Sied @ EEvs 9w @ A
B & | | 5
Prove that the line segment joining the points of contact of two parallel tangents

toa cimle is a diameter of the circle.

@W%Wﬁmwsotﬂaﬁﬁﬂﬁmwééﬁﬁﬁﬁwﬁaﬁ%!ﬁm'
& Wi | @ & S aur e R & rem @ e 300 @9 450§ @t g
Y T FAE T FL .5

A vertical flagstaff and a 50 m high tower are situated on the same horizontal

.

base. From the top of the tower, angles of depression of uppér and lower ends of

flagstaff are 30° and 45° respectively. Find the height of the flagstaff

S-1 |- 17001-s9/70)

Page 46 /48

https://www.bihartopper.com



o
P

38.

- [110]
’ e 3 . . 5
MRS PPrE pem———
' ; 23-25
T-SfeRTer 11-13 | 13-15 | 15-17 | 17-19 | 19-21 21-23
gt 4
= B G 7 6 9 13 f S
The mean of the given data is 18. Then find the unknown frequency :
Classinterval | 11-13 | 13-15 | 15-17 | 17-19 | 19-21 | 21-23 | 2825
No. of children 7 6 9 13 f .5 4

ﬂﬁﬁ%waﬁﬁm%mﬁﬁmwmw@aﬁwm%l
2 de 3 S 10 Ak R e & o @ B 35 ol B @ T LA
TR ST 3R A T B |

5.

An article is made by scoopihg out a hemisphere from each end of a solid

wooden cylinder. If the height of the cylinder is 10 cm and its base radius is

3-5 cm then find the surface area and volume of the remaining solid.
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